ATSA USA-UaT

SET -1
MODEL QUESTION PAPER Class — x11
gof —aR& (Class XII) del — B. Math
Business Mathematics Set - I
|
|
Full Marks : 100 ;
JAHAT : 3 ©S 3
Time : 3 Hours §
GROUP - A
|
Questions Carrying 1 mark (gest & 3 2)) |
10" term of the AP : 2, 5, 8, 11 ............. |
FHATET 3 0,8,8,11 iiorereies wr 10 @ ugs B |
() 47 (ii) 33 (iii) 37 (iv)29
Find the G.M. between 8 and 32 |
8 3X 32 & T IJPUNR AT FTa BT | 1
5p3 is equal to (5p; =@z B 1) |
i) 25 (ii) 60 (iii) 120 ()b
The value of |4is24 (True/False) i
4 @1 FT 24 B 1 (T /OTEA) |
|
A collection of well defined objects is called a set (True/False) |
JFURATYA a3t & Hars ﬁ@@ﬁﬂﬂ%ﬁ%l(ﬂﬁ/‘*ﬁﬁ: )
If A is set of the letters of the word ‘eat’ then which One of the folloying is true ?
aﬁemeat%aaﬁwwA%?ﬁ%mﬁﬁaﬁaqj@%
(i) E€ A (i) A€ a (i)t € A (iv)fat € A
The arithmetic mean of 5, 10, and 15 is
5, 10 @AT 15 B JTAHET AT & |
G s (i) 10 (iii) 15 (iv) 30

Which of the fallowing is true ? |
foreafafRaa & e I& 2 2

(i) Mean =3 Median —2 Mode (i) Median = 3 Mode — 2Meat

(iii)Mode = 3 Median — 2 Mean  (iv)Mode = Mean + Median

() smer = 3 ARTdT - 2 wged (i) ARTHT =3 wgeHd - 1

(iii) sgetep = 3 AfSTBT - 2 FHex (iv)agaas:?ﬁezr-i—zﬁf'i

ZTehT

Arithmetic mean is not affected by extreme items (True/False) ‘
TATAR AT TRH FHT N warlia @t B | (@erera)

O




10.

In the case of unequal size of items |
a) X<GM<HM b) X>GM>HM
¢) X=GM=HM d) None of these

3THATA Ual &t gom & |

&) HO HTO <IJO HATO < O HIO

TT) HO HIO >3I[0 HO >FEO HIO

91) JO HIO = JO HO = &0 HIO

o) Sod A BIs edt

11.

The geometric mean of 4 and 9 is :
(i) 6.5 (ii) 9.0 (iii) 5.5 (iv) None of these
4 FAT 9 BT JYUNERT HIET & :
Q) 6.5 (i) 9.0 (iii) 5.5 (iv) o 3 @1 ardt

12.

YarO=(Y=mOwRm@az 3 1)
(i) TxS xC-I (i) TxS xCx1 ‘
(i) T+S xCx1 (V) T-S +C-1 |

13.

Trend analyse refers to long term tendency to
(i) Increasing only (ii) Decrease only

(iii) Either increase or decrease (iv) None of these

3uafa gertar ddwreller ugfer &
() dacT dGar B () PasT @ed @t
@n) W@ AT Hedr B (@) st F BrS gt

14.

Probability of getting a head in a single tossing of a coin is

U as @ Ioicta A g (H) amer a5 uilResar

(1) —é— (ii) % (i) % (iv) 1

15.

Tt frect scr & srgaATera wear arell awpeftas  aTgToTE

A technique of estimating of past figure is term as extrapolation (Tru

(&t /oTeTa) ‘

c/False)

HEATAT B

GROUP -B
Question Carrying 3 marks (Feft uest & & 3

16.

5
IfX (x-A)=14 and X =17, then find the value of ‘A’
i=1
5
afr T (xrA)=14 gam X =17 @ A @1 H=ver ferepret

[3]

i=1
oIE™




175

Calculate the geometric mean of 3, 6, 24 and 48 without using logtable [3

e SEgpos AR @ wWaRET X 3, 6, 24 deT 48 U

e

| srotR FTe
feresret | :
18. | A bag contains 4 white, 9 black, 6 red and 3 green balls. Find thé}i probability of
getting either a white or a black or a green ball in a single draw ? | (3]
Th AT H 4 FABE, 9 wprod, emamsaé’rﬁa%iluasmﬁ
%m%wmmmmmmmaﬁﬁzwﬁa?ﬂwvﬁm
i |
19. | A can solve 75% of the problems in mathematics and B can solve 70% What is the
probability that A or B can solve a problem chosen at random. | (3]
A oiftra &t 75% JHETY A BT AGAT T e B70%€|§zﬁrﬁa€n
uliRkrsar @ 5 A=m Bughes su 3 it o U =l &1 A @
FPBOT | i
20. | From a pack of 52 cards, one card is drawn. What is the chance of dr. wing a king or
ace ? i (3]
m%ra%52uﬁﬁﬁuzswaﬁmﬁnm%lmmhﬁmsaﬁr
Bt @ wiresar sia @3 | |
GROUP - C |
Question Carrying 5 marks (J1sft weaif & &&= 5 !? 1)
!
21. | Prove that (Frg =% R6) : [5]
\
1 a bc = (a-b) (b-c) (c-a) |
1 b ca |
1 ¢ ab 1
22. | (5]
IfA= |1 23 ;
. find Adjoint A ;
39981 |
\
e A=|1 2 3 |
n S S TFeHAvSA A Fd B2 }
3 3 4 ‘
|
23. | Differentiate with respect to X i [5]
\

foreet Wotel &1 X & JTUET 3radbeisl By

X ]

2
X

7(2




24. | Find (et foremred) | [5]
|
|
J(ax3+bx2+cx+d)dx ;
25. | Calculate harmonic Mean | [5]
(BT AT STd BI) |
Marks (37<5) 0-10  10-20  20-30  30-40 ‘ 40-50
Number of Students 4 5 11 6 | 4
(ﬁﬁ]’l’f\ejﬁ' Gal m) \
26. | Find the trend of the following value by least square method i [5]
(eraetifera et A <gorad aof fafer gy 3usta sma «Hitsy )
Year (ad) 2005 2006 2007 2008 2009
Price (Rs.) 83 92 71 90 169
7 Sl Col)) |
GROUP -D 1
All Question Carrying 8 marks (Fraft uest & &Ter 13 2 )
27. | Find the sum of the n terms | [8]
( nUel w1 AT A HISIE )
BH55+555 oiiiieeiiiiiiieaaeiiiieaeannns
28. | From 7 gentlemen and 4 ladies, a committee of 5 is to be formed. In how many [8]
ways can this be done so as to include at least one one lady ?
7 gaut 3T 4 AT F 5 I s HAS AR T iﬁmﬁ
Bt A B Twar & I uH HAS H BH A BH TH ?
29. | In a group of 520 persons 390 can speak hindi and 360 can speak only hindi How
many persons can speak English and how many persons can speak hindi and
English. ‘ [8]
520 wpall & Jg H 390 & I ABA & TdAT 360 Baar fEear
aﬁawﬁ%ﬁ%ﬁwﬁsa@sﬁ@aaﬁﬁaﬁ%ﬁ%wﬁﬁ%&ﬁ
derr ISt arell A ABT & |
30. | In the following frequency distribution, locate the missing frequency. if the (8]
arithmetic mean of the series is 22. Also find median.
foreer amgfar frawor & s amafy @1 uar semd afe FEr @
3fepoTioTd Ry AT 22 &1 | HAfemer off sma wI |
Size of items 0-10 10-20 20-30 30-40 |
(e @1 3THR) |
Frequency 1 3 ? 2 |
(arrgfe) |
31. | Estimate the population of 1975

(1975 T SEHAIBAT BT AT AONST) |
Year (adt) 1941 1951 1961 1971

Population (000) 46 66 81 93 |
SHSAT (000) ;

1981
10




